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Co FO04100M0002
14
Y1J0101163
1
Y1J010116404
72
S1032 00O
72 0O -0056
Y1J0101213
1
Y1J010121401
28

28

R0O369 00




0-0013

#0020 )
Z0002
YZZ02 2
1
YZZ202001 3
1
YZZ202001040 8
1
v2001008
00 0O -0057
20003
YZZ03 2
1

YZZ03001 3




0-0014

YZZ030010401

1
FO300100101
1
Z0004
YZZ04 2
1
YZZ04001 3
1
YZZ04001040 3
2
S8115 00
35t 0t
2 0O -0063
YZZ04001040 4
49

S1000000

0O -0064




0-0015

S1000000

1 0O -0067
Z0006
YZZ06 2

1
YZZ06001 3

1
YZZ06001040 6

1
V600100601

19 0O -00638
V600100603

14 0O -0069
Z0009
YZZ09 2




0-0016

YZZ09001 3

1
Y4999 4

1
S9740 00

FRP D 180PS 10. 0t 132kWwW
94 0 -0070

Z0017
YZZ17 2

1
YZZ17001 3

1
YZZ170010401

1
S1200100

1 0O -0071

Z0019




0-0017




0-0018




SPK20040001 0O -0001

1 m3

58. 38% 25. 70% 15. 92 % 0.00% 356
( ) ( ) (
MTPCO0O0045
58. 38% MTPTO0O0045
0. 8m3 0. 8m3

( ) ( ) RTPCO0O00(Q6
25. 7T0% RTPT000(Q6
1.2 TTPCO0OO0OO0O13
, 2 4KL 15.92% TTPTO00013

EPOO1

A=1 B=4




SPK20040002 0 -0002
) DI D 3.5km (3.0km )
47.71% : 37.09% : 15.20% : 0.00%
( ) ( ) ( ) ( )
] [ ]
47.71% 10t
( ) ) ( ( ) )
( )
37.09%
1.2
2 4KL 15.20%
A=1 B=1 0. 8m3( 0
c=1 ( ) D=2 DI D
E=9

3.5km (3.0km )

N~




SPK20040003 0O -0003
1 m3
25. 89 % : 49. 69% : 24. 42 % : 0. 00% 110
( ) ( ) ( ) ( )
( ) KTPCOO0OO1S8
. 8m3( 0.6) 25. 89% KTPT00018
( 1,2,3 ) 0. 8m3( 0. 6m3)
( ) RTPCOO0O0Q6
49. 69% RTPTO000Q6
1.2 TTPCO0OO0O013
, 2 4KL 24. 42 % TTPTO00O013




0-0022

1350PS (993kWw) V970001 0 -0004
50m N 2 5392 m3
0-0005

ps 1
GNSS

GNSS 1

#01
0.5
5,392




0-0023

S9700 0 -0005
1
5356.4 10L 5354/ 10
3.18 2*1.59
3.18 2*1.59
32.00 20*1. 6
16
D1350PS
1.65
1




0-0024

1350PS (993kWwW) V970002 0 -0006
50m N 2 5042 m3
0-0005

ps 1
GNSS

GNSS 1

#01
0.5
5,042




( ) SPK20040007 0 -0007
50, 000m3 1 m3
43.54% 38.36% : 18.10% 0.00% 200
( ( ) ( )
( ) ( ) MTPCO0O0014
2 43.54% 2 MTPTO00014
0.8/ 0.6m3 0.8/ 0.6m3
C ) C ) RTPC000Q6
38.36% RTPT000(Q6
1. TTPCOOO13
L2 4KL 18.10% TTPTO00013
EPOOL
A=1 B=1 50, 000m3




0-0026

V970003 0O -0008
1350PS (993kW) 1
0-0009
ps 0.5
GNSS
GNSS 0.5




0-0027

S9700 0 -00009
ps
2.00 2*1
2.00 2*1
20. 00 20*1
(
1
1




SPK20040329 0 -0010
D22 420mm 500mm 1
0. 00% 74. 69 % : 25.31% 0. 00% 2, 36
( ) ( ) ) (
RTPCO0OOGQ(
39.87% RTPTO0O0OG(C
(1.3596)
RTPCO0OOGQ(
13.50% RTPTO0O0OG(C
(1.3596)
RTPCO0OOGQ(
11. 58% RTPTO0O0OG(C
(1.3596)
( ( ERO0O0Y9
TTPCO0O025
25.31% TTPTO0025
EPOO1
A=3 _ D22 B=10 420mm 500 mm




SPK20040329 0 -0011
D25 460mm 540mm 1
0. 00% 70. 09 % : 29.91% 0. 00% 2,52
( ) ( ) ) (
RTPCO0OOGQ(
37.41% RTPTO0O0OG(C
(1.3596)
RTPCO0OOGQ(
12.67% RTPTO0O0OG(C
(1.3596)
RTPCO0OOGQ(
10. 87 % RTPTO0O0OG(C
(1.3596)
( ( ERO0O0Y9
TTPCO0O025
29. 91% TTPTO0025
EPOO1
A=4 _ D25 B=12 460mm 540mm




SPK20040329 0O -0012
D16 250 mm 300mm 1
0. 00% 78. 26% : 21. 74 % 0. 00% 1,30
( ) ( ) ) (
RTPCO0O0OOO
43.68% RTPTO0O0OQO
(1.3596)
RTPCO0O0OOO
14. 79% RTPTO0O0OQO
(1.3596)
RTPCO0O0OOO
12. 68% RTPTO0O0OQO
(1.3596)
( ( EROO0O
TTPCO0O025
21. 74 % TTPTO0O025
EPOO1
A=1 _ D16 B=2 250mm 300mm




Co ) SPK20040332 0O -0013
1 m2
0. 00% : 100. 00 % : 0. 00% : 0. 00% 1,860
( ) ( ) ( ) ( )
RTPCOO0O0Q2
33.36% RTPT000Q2
(1.3596)
RTPCO00O0Q1
31.34% RTPT000Q1
(1.3596)
RTPCO0O0Q9
24. 59% RTPT000Q09
(1.3596)
( ) EROO0DO9

EPOO1




0-0032

V5043005 0O -0014
54 m3
0-0015
10
1
0-0016
54 m3
54 m3




S5186

0

-0015

100

0-0033

#06

100




0-0034

( V504300501 0O -0016
( ) 10 m3
30-12-25(20) BB 10. 6 mg3
0-0017
m3 0. 2
0-0018
ps 0.1
0.3
0. 4
0.9
#06
0.5 %
10 m3




0-0035

S5980007 0O -0017
m3
, 2 4KL 11

( )
.00
.90

90 110m3/ h

( )

.14

m3




0-0036

S9738 0 -0018
ps 1
8.6 10L 86/ 10
( )
0.24 0.2*1.2
1.20 1*1.2
1.20 1*1.2
1.20 1*1.2
1
D180PS 3 5t 4.9GT
( )
1.65
1
A=1 ( ) B=1




0-0037

v0151 0O -0019
1 m3
0-0020
1 m3
1 m3




0-0038

v0o15101 0O -0020
. 8 m3
1
(1.3596)
3
(1.3596)
2
(1.3596)
#01
6
0.8




v3030005

0

-0021

100

0-0039

. 531

#09

10




0-0040

( ) S5298 0O -0022
1000
<JI SG3112>
SD345, D13 1,030 g
0.995kg/ m
1,000 g
< > (
25t 0.
( 1,2,3
1,000
1
A=3 ( ) B=5




0-0041

( ) S5298 0 -0023
1000
<JISG3112>
SD345, D16 25 1,030 g
1,000 g
< > (
25t 0.
( 1,2,3
1,000
1
A=3 ( ) B=6




0-0042

V1001022 0 -0024
D22xD22
D22xD22 1
D22 1




0-0043

V1001025 0 -0025
D25xD25
D25xD25 1
D25 1




0-00414

V1001016 0 -0026
D16xD16
D16xD16 1
D16 1




SPK20040412 0 -0027
M12( W1/ 2) x70 1
0.00% 93.53% 6.47% 0.00% 1,368
( ) ( ) ) (
RTPC000Q1
47.78% RTPT000(1
(1.3596)
RTPCO000Q2
27.75% RTPT000(2
(1.3596)
RTPC000Q9
16.17% RTPT000(Q9
(1.3596)
( ) ( EROOO
TTPC00217
M12( W1/ 2) x70 6.35% TTPT00217
M1 2
( ) ( EZ0O09
EPOO1
A=1 B=4 M12( W1/ 2) x70




v5180

0

-0028

100

0-0046

0-0018

#01

#06

100




0-0047

) S52914 0 -0029
) 100 m2
100
)
> (
25t 0.
1,2, 3
100
1
A=3 ( )




SPK20040005 0O -0030
4, 0m 10, 000 m3 1 m3
: 20. 92 % 64. 78% : 14. 30% 0. 00% 302
( ( ) ) (
> < > KTPCO0O0OO036
, 7t 10. 78 % , 7t KTPT00036
( 1,2 ( 1, )
> ( ) ( KTPC0O0O0O0H4HS8
11 12t 10. 14% [ ] KTPT00049S8
( 1,2,3 ) 11 12t
( ) ( ) RTPCO0O0O0Q6
43, 85% RTPT000Q6
RTPCO0O0O0Q2
20. 93 % RTPT000Q2
1.2 TTPCOOO113
, 2 4KL 14. 30% TTPTO00O0113
EPOO1
A=3 4, 0m B=1 10, 000m3
c=1




. 41%

SPK20040001
5,000m3

C )

47.87%

33.41%

18. 7T2%

mo >
o

WN

5, 000m3

18.

m
non
e




0-0050

v01010215 0O -0032
24N 5.5 m3
0-0033
SD345_D13 0.192
[ 110t
0-0034
19.5 m
0-0035

(

24-12-25(20) BB

)




0-0051

= O
o o

99 0 -0033
SD345 D13 t

1.000t

<JI SG3112>
SD345, D13 1.030¢ 1*1.03
0.995kg/ m

=Y
-

SD345_p13
110t

AXTmMmo>»
ST mw
ninnu
Rk RO

moufn
RRNR R
—




o>
mnnu
[N Y

SPK20040150 0O -0034

1 m?2

0. 00% : 100. 00 % : 0.00% : 0.00% 7,673
( ) ( ) ( ) ( )

RTPCO0O0O0OJO
45, 22 % RTPTO0O0O01JO
RTPCO0O00(Q2
30.52% RTPT000(d2
RTPCO0O00Q9
11.22% RTPT000Qd9

( ) EROO0O9

EPOO1

B=2




SPK20040148 0 -0035

24-12-25(20) B ( ) 1 m3
; 4.50% : 39.86% : 55.64% : 0.00% 28,481

( ( ) ( ) (
< > ( ) KTPC000Q6
0.8m3( 0.6) 2.9t 4.25% [ KTPT000Q6
( 1,2,3 ( 2 ) 0.8m3 2.9t

C ) C ) EKOOO9
RTPC000Q?2
12.89% RTPT000(Q2
RTPC000Q1
11.04% RTPT000(Q1
C ) C ) RTPC000Q6
6.76% RTPT000(Q6
RTPC000Q9
6.47% RTPT000(Q9

C ) C ) EROOO
TTPC00343
24, 12, 20(25)53. 64% 24-12-25(20) W/ C 55% TTPT00343

W/ C(55 ), (

1.2 TTPCOOO13
L2 4KL 1.89% TTPTO00013




0-0054

SPK20040148 0 -0035
24-12-25(20)B ( ) 1 m3
: 4.50% : 39.86% : 55.64% : 0.00% 28,481
( ) ( ) ( ) ( )
C ) C ) EZ00O
E9999
A=2 B=2 ( )
c=1 24-12-25(20) BB F=2
J=1 - K=1 - ( )




0-0055

(H S0491 0O -0036
H H300 20m 10
2.000 1*2
6.000 3*2
2.000 1*2
0-0037
2.000
50 55
H H300 20. 000 10* 2
#0909

1 %
10
1

A=1 B=2

C=3 2 D=3 H300

E=20 H m)




0-0056
S9119 0 -0037

52B8.00 L

1. 30
473kN 60Hz
1. 30
50 55t
1
1
A=9 B=3
C=1 ( ) D=523 ( )
E=1. ( ) F=4
G=2




0-0057

) S1030 0O -0038
CcCC 50-55t 10 t
2.100
4.900
1.800
1.300
-18 0-0039
50 55t 1.700
#09
13 %
10 t
1 t
A=1 B=2 ccC 50-55t




0-0058

18 _ S9069 0 -0039
50 55t 3
, 2 4KL 74. 00 L
( )
1.00
3 1.31
50 55t
1
1
A=8 50 55B=1 )
C=74 (L/ D=1. 31 / )
E=4 3




0-0059

) S1030 0 -0040
CcCC 50-55t 10 t
0.740
1.900
0.520
0.270
-18 0-0039
50 55t 0.850
#09
8 %
10 t
1 t
A=2 B=2 ccC 50-55t




0-0060

S0492 0 -0041
20m 10 ()
0.303 1*0.303
0.606 2*0.303
0.303 1*0.303
0-0042
0.303
#09
0. 2 %
10 C D
1 C D
A=1 B=2
CcC=2




0-0061

S9119 0 -0042
25
( )
1.00
, 2 4KL 570.00 L
( )
2 1.20
. 473kN 20 60Hz
1 1.20
25t
1
1
A=090 B=10
c=1 ( ) D=570 )
E=1. 2 ( ) F=4
G=2




0-006 2
300 S0850 0 -0043
120 1 t
1. 000t
1 t
A=38 H (300 ) B=120 ( ) ()
c=1 () D=1




0-0063

V103001 0 -0044
1
380x100x%x10.5 5.341t
150x75x%x6.5 1. 823t
65x65x%x6 0.621t




0-006 4

S1020 0 -0045
CcCC 50-55t 10 t
0.620
2.100
0.410
-18 0-0039
50 55t 0.580
#09
6 %
10 t
1 t
A=1 B=6 ccC 50-55t




0-0065

S1020 0 -0046
CcCC 50-55t 10 t
0.340
1.000
0.130
0.170
-18 0-0039
50 55t 0.290
#09
5 %
10 t
1 t
A=2 B=6 ccC 50-55t




0-0066

S1022 0O -0047
ccC 50-55t 100 m2
0. 450
1.500
0.270
-18 0-0039
50 55t 0.470
#09
2 %
100 m2
1 mQ2
A=1 B=6 cC 50-55t




0-0067

S1022 0O -0048
ccC 50-55t 100 m2
0.270
0.800
0.120
-18 0-0039
50 55t 0.210
#09
2 %
100 m2
1 mQ2
A=2 B=6 cC 50-55t




0-0068

V10015 0 -00409
2000x1000x200 A=264m2 1
0-0050
264 mpP
100x100x10 0.0809t
200%x90x8 3.333t
F10T(JI SB1186) 2| A
M22x65 330
540q¢q/
F10T(JI SB1186) 2| A
M22x70 3856
555q/
F10T(JI SB1186) 2| A
M22x80 200
585q¢qg/
F10T(JI SB1186) 2| A
M22x90 45
615¢qg/




0-0069

SHD10015 0O -0050
1 m2

)
( 1. 00MmM2
0

1. 00MmM2

1

1 mQ2

B=2

O >
nou

[N Y




S1024

0

-0051

100

0-0070

. 000

. 800

100




S1024

0

-0052

100

0-0071

. 600

. 100

100




0-0072

V102401 0 -0053
60x60x2,.3%x2000
60x60x2.3x2000 1
60x60x2.3x2000 120




SDT00033

0

-0054

0-0073

m3

1. 00 M3
1
1 m3

o>
non
[N Y

O ®
non
e




SPK20040146 0 -0055
DI D 3.5km (3.0km )
47.71% : 37.09% : 15.20% : 0.00%
( ) ( ) ( ) ( )
] [ ]
47.71% 10t
( ) ) ( ( ) )
( )
37.09%
1.2
2 4KL 15.20%
A=1 Co( ) B=1
C=2 DI D D=17 3.5km (3.0km
E=1

N~




S1032

0

-0056

10

0-0075

. 490

. 449

. 000

#09

90




0-0076

V2001008 0 -0057
200 m
0-0058
200
200 m
0-0059
200
0-0060
=200m 140 1
2x 20 1000 2000
0-0061
1
0-0062
400 m?2
200 m




S5852

0

-0058

120

0-0077

120.

120




S5852

0

-00509

120

0-0078

120.

120




0-0079

V200100801 0 -0060
= 2x 20m 1000 2000 1
#300
10
1000 2000
#300
1,400

1000 2000




S5504001

0

-0061

0-0080

200m

m >
nou

=N

O0Om




V200100802

0

-0062

100

0-0081

m2

< > (
25t 0.1
1,2, 3
0.5
#01
0.5
100 m2




0-0082

S8115 0 -0063
35t 80t 1
5.500 5.5*1
< > (
25t 1.500 1.5*1
1,2, 3 )
#06
375 %
1
1
A=T7 35t 8Ct1l




0-0083

, H , ) S1000007 0 -0064
34. 4k m 12 m 1
0-0065
34. 4km 1.000
12m 149. 34t
0-0066
1.000
1
A=34. 4 ( k m) B=1 12m
C=1 - D=1 -
E=149. 34 (t) F=1 i
H=1 - Jd=1 -
L=1




0-0084

S1000009 0 -0065
34. 4km 12m 149.34t 1
1.000
149.340t¢
1
A=1 B=34. 4 ( km)
c=1 12m D=149. 34 (t)




S10000009

0

-0066

0-0085

149. 340
149. 340
149. 340
149. 340

>
nou

= a1

D=1409.

34

(t




S10000009

0

-0067

0-0086

11. 207
11. 207
1

>
nou

H a1

11.

207

(t




V600100601

0

-0068

12.

0-0087

m2

(A)

(B)

(C)

#01




V600100603

0

-0069

18

0-0088

m2

(A)

(B)

(C)

#01




0-0089

S9740 0 -0070
FRP D 180PS 10.0t 132kW 1
A
3.7 10L 37/ 10
, 0.5
1.20 1*1. 2
1.20 1*1. 2
FRP 1
D180PS 10.0GT
( )
1.65
1

A=1 1 ( 8 ) B=1 FRP D 180PS 10. 0t 132kW




0-0090

S120017 0 -0071
1.00
1

B=40083536




51 HMELIE

I7& F&R - 3RE Bl AES | PUEBHD | P24BRD | P34EM | A& 8% -
RELET FyELY m? - 53. 2 53.2 53.2| - 159. 6
avhy—+ o ck=24N,/mm? m® - 18.1 18.1 18.1 - 54. 3
EUVEEILZ L m° - 0.4 0.4 0.4 - 1.2
BT —RR B m? - 86. 2 86. 2 86.2| - 258. 6
o—L# 30 x 30 m - 12.0 12.0 12.0] - 36.0

DI3 | D13 | t - 0.026| 0.026] 0.026] - 0.078

D16 | - 0.945  0.944|  0.945 - 2.834

D16 | D19 | » - - - - - 0. 000

SD345 2 D22 | - - 0.584| - - 0.584

A O D25 D=25 " - 0.779] - 0.779] - 1.558

W S " - 1.724] 1.528] 1.724| - 4.976

o &% " - 1.750{  1.554|  1.750| - 5.054

- D16 |@mm| - 120 120 20 - 360

= M T D22 " - - 8| - - 8

= D25 " - 8| - 8| - 16

$32x450 @Rl - - 54| - - 54

V4 — hEIR AR $35x510 | » - 54 54 - 108

it B $26x250 | - 140 140 140 - 420

BHEEA IR TR kg - 34 30 34 - 98

HAITT v H— D13 p. - 60 60 60| - 180(SD345

SvHY— kT Uh— M12 x 52 p: - 60 60 60| - 180

BT BiERS B’ - 91.2 91.2 91.0| - 273. 4

BET m3 - 115.7] 115.7|  115.7| - 347. 1
RBFEER = - 28 - 28. 0| TFExk &K Y




& R - s| ABS | PUEII | P2EWI | P3EM | AR | &% BE
pichallsllakii vk ZaTFssa— m - 200 - 200. 0

% [BEmERE BE= N - 9 N 19.0

2 |pmrz TEZ | - 12 N 12.0

A PPN 5| - o4 N 04 0| TEE £ Y
EBERRES - 1 - 1.0
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1. 27 U—HKMNED2Y

3. R T
For s
2) AT

- JERR L
Ui A

a = 1/4 X =
+ 1.450 X 0.250 X 2 4+

A= 1.198
Hh

a = 2.100 X

1. 550

5

=
SIS

L]

R

X 2

X 1

X 0.500 2

1.500 - 1.600 X

A= 2.500 X 0.350 X 2

- BERRAE
gkt

A6= ( 1.000 + 1.699 X 2 )

TR

AT= ( 1.000 + 1.600 ) X 3.240 X

BT

A8 = 3.000 X 0.350 X 2

4. w7 Y —HhL

2) FEAHIR
Uit T
V4 = 1.198
rh R
V6= 1.550
T B
Ve = 0.350

W

5. MEIVHEE L2 L

BER
TR B
Vi=  0.350

m® X 3.240 X 2

m> X 3.240

X 3.040

X 0.200

X 2.500 X

X 2.500 X
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